A —

LISTE DE PIECES

ARTICLE

QTE

NUMERO DE PIECE

DESCRIPTION

1

Corps de roulette

Roulette

Ecrou H M3

Vis CHc M3-16

Ecrou autofreiné M5

Rondelle plate Z 5

NoOu|h|WIN

=N = = = =

Vis CHc M5-30

Congu par

bts ati

Vérifié par

Approuvé par Date

Date

01/04/2024

Roulette directionnelle

Modification)

Feuille

1/1

1




